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NEW QUESTION 1
What is the foundation of a software-defined data center (SDDC)? (Choose the best answer.)

A. vRealize Operations Manager
B. vSphere

C. vSAN

D. NSX

Answer: B

NEW QUESTION 2
Which feature can an administrator use for site availability with minimal effort and a low recovery point objective (RPO)? (Choose the best answer.)

A. vSphere vMotion

B. vSphere High Availability
C. vSphere Replication

D. vSphere Fault Tolerance

Answer: C

NEW QUESTION 3
An administrator is running a variety of vSphere 6.5 cluster configurations and is tasked with upgrading to vSphere 7.0.
Which two conditions could cause potential conflicts or outages to the virtual machines (VMs)? (Choose two.)

A. The use of a Windows vCenter Server system

B. Datastores attached to the hosts based on VMFS3

C. The upgrade of a vSphere Distributed Switch with VMs attached

D. The upgrade of an external platform services controller

E. The use of third-party custom vSphere Installation Bundles (VIBs) installed on the ESXi hosts

Answer: CE

Explanation:
https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/vmfs-5_upgrade_consideratio

NEW QUESTION 4
An administrator is asked to deploy a virtual machine (VM) that can sniff packets for the Security team. Which setting must be set to “accept” on the VM'’s port
group? (Choose the best answer.)

A. Promiscuous mode

B. Forged transmits

C. MAC address changes
D. Traffic shaping

Answer: A

NEW QUESTION 5

There are two vSphere clusters in a company environment. One cluster is hosting development workloads and another is hosting production workloads. Both
vSphere clusters are managed by the same vCenter Server.

The application team would like to move a new virtual machine from the development to production cluster with no downtime.

Which feature would allow non-disruptive movement between these two clusters? (Choose the best answer.)

A. Cross vCenter Migration
B. vSphere High Availability
C. vSphere vMotion

D. vSphere Replication

Answer: C

NEW QUESTION 6

An administrator wants to configure vCenter Server High Availability so that each node is located in a
different data center.

Which requirement must be met? (Choose the best answer.)

A. Each node must be configured with at least three network adapters.

B. Network latency between the nodes must be less than 10 milliseconds.
C. All nodes must be located on a vSAN datastore in each data center.

D. A vCenter Server license must be assigned to each node.

Answer: B

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.avail.doc/GUID-8FD87389-8CC9-429
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NEW QUESTION 7
An administrator can attach a baseline to which two inventory objects? (Choose two.)

A. Resource pools
B. Data centers

C. Datastores

D. Templates

E. ESXi hosts

Answer: DE

Explanation:
https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.upgrade.doc/GUID-5EA28531-0813-4

NEW QUESTION 8
Which solution can be used to automatically deploy a fully configured VMware software-defined data center (SDDC)? (Choose the best answer.)

A. vCenter Server
B. vRealize Suite
C. vSphere Lifecycle Manager
D. VMware Cloud Foundation

Answer: B

NEW QUESTION 9
An administrator is unable to manage certificates with the vSphere Client.
What is another supported option that can be used to manage certificates? (Choose the best answer.)

A. vCenter Server Management Interface
B. Command Line Interface

C. vRealize Operations Manager

D. Cloud Builder

Answer: B

NEW QUESTION 10
Which privilege is required to run the esxtop utility? (Choose the best answer.)

A. Root user

B. vStatsUser
C. vStatsAdmin
D. Administrator

Answer: A

NEW QUESTION 10
An administrator is configuring ESXi host behavior before and during the remediation process. Which remediation setting is supported only on select hardware
platforms? (Choose the best answer.)

A. VM migration

B. HA admission control

C. Maintenance mode failures
D. Quick Boot

Answer: D

NEW QUESTION 12
Which two performance tools can be used to monitor virtual machines outside the guest operating system? (Choose two.)

A. vCenter Server performance charts
B. Task Manager

C. top

D. esxtop

E. Perfmon

Answer: AE

NEW QUESTION 13

An administrator needs to configure Proactive High Availability (HA) in a vSphere environment so that virtual machines (VMs) do not run on any partially degraded
hosts. The administrator would also like to see the recommendations before VMs are migrated.

Which automation and remediation level should the administrator select? (Choose the best answer.)

A. Automation Level — Manual Remediation Level — Quarantine mode

B. Automation Level — Automated Remediation Level — Maintenance mode
C. Automation Level — Manual Remediation Level — Maintenance mode

D. Automation Level — Automated Remediation Level — Mixed mode
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Answer: C

NEW QUESTION 14
What are two supported ESXi boot options? (Choose two.)

A. NFS

B. iSCSI

C. vSAN

D. SAN

E. vSphere Virtual Volumes

Answer: BD

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-2A66A330-A9E5-4

NEW QUESTION 17
An administrator is tasked with upgrading an existing vSphere environment to version 7.0. There are existing VMFS3 and VMFS5 datastores in the environment.
Which statement is true regarding this upgrade? (Choose the best answer.)

A. An ESXi 7.0 host will NOT recognize a VMFS3 datastore.

B. VMFS3 is supported with ESXi 7.0 to store boot configurations only.

C. A VMFS5 datastore CANNOT be upgraded; a new VMFS6 datastore is required.
D. An ESXi 7.0 host can automatically upgrade a VMFS5 datastore.

Answer: C

NEW QUESTION 20
An administrator is investigating the reason for a virtual machine restarting. In the vmware.log file, the administrator finds the following error:

svga | I120: WinBsSoD: ( 1) ‘A problem has been detected and Windows has

been shut down to prevent damage’

svga | I120: WinBSOD: ( 2) ‘to your computer.’

svga I120: WinBsoD: ( 4) “If this is the first time vou've seen this
Stop error screen,'

svVga I120: WainBSOL ( 3) “restart your computer. If this scraen
appears again, follow'

svga I120: WinBsSoD: ( &) ‘these steps:’

svga I120: WinBsSoD: ( 8) '‘Disable or uninstall any anti-virus, disk
defragmentation’

svga I120: WinBsSoOLD { 9) ‘or backup utilities. Check vour hard drive
configuration,’

svga I120: WinBSOD ( 10) ‘and check for any updated drivers. Run
CHEDSK /F to check'

svga I120: WinBs0OD: ( 1l1) ‘for hard drive corruption, and then restart
your computer.’

svga I120: WinBsSoD: ( 13) 'Technical information:'’

svga I120: WinBsOD: ( 15) “¥*++* gTOP: Ox00000024

(0x00000000001904FB, OxXFFFFFEBO0E9BZCEH, OXFFFFFBE0O0E59B2540,0'

svga I120; WinBsSOD: ( 1€) 'xFFFFFBBQ0014FSFAZ)

What is a likely cause of this virtual machine restart? (Choose the best answer.)

A. Guest operating system fault

B. User or API request to shut down guest operating system
C. High Availability

D. User or API request to restart guest operating system

Answer: A

NEW QUESTION 21
Which TCP/IP stack can support management traffic, vSphere vMotion, IP storage and vSphere Fault Tolerance? (Choose the best answer.)

A. VXLAN TCP/IP stack

B. Provisioning TCP/IP stack

C. Default TCP/IP stack

D. vSphere vMotion TCP/IP stack

Answer: C

NEW QUESTION 24

How does vSphere handle memory allocation during the instant clone process? (Choose the best answer.)
A. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines.
B. An identical clone of the parent virtual machine’s memory is created for each child virtual machine

C. Memory is shared among all child virtual machines using a delta disk.

D. A unique memory pool is created per child virtual machine using copy-on-write.

Answer: B
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Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-853B1E2B-76C

NEW QUESTION 29
What is a pre-requisite for increasing datastore capacity? (Choose the best answer.)

A. The backing device for the datastore has enough free space.
B. The datastore is managed by Storage DRS (SDRS).

C. The datastore is 100% full.

D. There are NO powered-on virtual machines on the datastore.

Answer: A

NEW QUESTION 31
How many vSphere Trust Authority Clusters can a Trusted Cluster reference? (Choose the best answer.)

00w
NP

Answer: A

NEW QUESTION 35
In a vSphere High Availability (vSphere HA) cluster, which condition can be detected by datastore heartbeating? (Choose the best answer.)

A. Fault tolerance virtual machine (VM) failover
B. Network isolation

C. Virtual machine (VM) disk failure

D. Datastore All Paths Down (APD) event

Answer: B

NEW QUESTION 36
ESXi provides VLAN support by assigning a VLAN ID to which component? (Choose the best answer.)

A. Virtual standard switch

B. Physical network interface card (NIC)
C. Virtual distributed switch

D. Port group

Answer: D

NEW QUESTION 37

A recently deployed set of test virtual machines are impacting the performance of a company development team project datastore. The shared cache server
appears to be suffering from storage congestion.

Storage 1/O Control is already enabled on all company datastores.

Which two steps should the administrator take to improve the performance of the cache server? (Choose two.)

A. Update the storage provider for the existing array.
B. Create a claim rule to control the storage path.

C. Configure the path selection policy.

D. Configure storage shares per virtual machine.

E. Configure storage limits per virtual machine.

Answer: DE
Explanation:

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.resmgmt.doc/GUID-25C3D9FE-3A9D

NEW QUESTION 40
Refer to the exhibit.

a There is a probl
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An administrator repeatedly encounters this error message while attempting to connect to vCenter Server. What should the administrator do to address this error

message? (Choose the best answer.)

A. Use a different browser.

B. Trust the VMware certificate authority (CA) root certificate.
C. Restart the vCenter Server Appliance.

D. Reissue a new, unexpired certificate.

Answer: D

NEW QUESTION 42

What are two minimum disk requirements for a vSAN hybrid disk group configuration? (Choose two.)

A. At least one magnetic data disk
B. At least one SATADOM device
C. At least two magnetic data disks
D. At least one flash device

E. At least two flash devices

Answer: CD

NEW QUESTION 45
What are two functions of vSphere Lifecycle Manager? (Choose two.)

A. Update ESXi hosts in a cluster using baselines

B. Upgrade VMware Tools and virtual machine hardware
C. Run vCenter Server interoperability reports

D. Run vCenter Server upgrade pre-checks

E. Update standalone ESXi hosts using images

Answer: AB

Explanation:

https://www.stevenbright.com/2020/04/getting-started-with-vsphere-7-0-lifecycle-manager/

NEW QUESTION 50

Each logical port on a vSphere standard switch can be a member of how many port groups? (Choose the best answer.)

o0 w>
NPF, WS

Answer: C

NEW QUESTION 53
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